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PO ES D BB 405 A BE O 6,200 — 6,200
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PO ES D BB 426 SFH E#E X — - —
PO ES D BB 444 XEF (EFN X — - —
FIRTE DE 2 KA B ER 3,100 1,020 4,120
FIRTE DE 5 NE  R=E 1#% 1,030 — 1,030
FIRTE DE 6 SHl ®=E 1#% 1,030 — 1,030
FIRTE DE 8 a2 A | U 3,100 1,020 4,120
MEDE 101 #E  RK O 3,100 — 3,100
B 7 HERDER 102 ik EBEXRTF O 3,100 — 3,100 32 000
HERDER 103 = BF O 3,100 — 3,100
MEDE 104 | B8 0V O 3,100 — 3,100
MEDE 105 N O 3,100 — 3,100
MEDE 106 Fl - A O 3,100 — 3,100
HEEDER 115 TR BX X - - -
MEDE 117 T s O 3,100 — 3,100
FIRTE DE 3 wrB  EC E 3,100 1,020 4,120
=R |EIBEDOR 4 ZNI =R TR 3,100 1,020 4,120 12,360
BIETEDED 21 ZH ®E X 3,100 1,020 4,120
FIRTE DE 9 & BE | (RJE) — - -
FIRTE DE 11 = =7 ER 3,100 1,020 4,120
MEDE 116 I BBE O 3,100 — 3,100
" %?JE&G)%IZ 118 Bz E-YN O 3,100 — 3,100 16,520
XD 236 | tHE  #EfE O 4,100 — 4,100
BERDER 306 A B O 5,100 — 5,100
BERDER 307 A E piizkai X - - -
TUER D EB 404 | BER Bk x — — —
e BIETEDED 7 EBE Eih W 3,100 1,020 4,120 5,240
FIRTE DE 10 BB X4T| UK 3,100 1,020 4,120
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7B |BEOH g2 | K % mE | BEN | o | BF | 27788
MEDE 119 | A = x — — —
HEOB 211 | Beam A x — — —
Lo BB 349 | 2®  @EwF|  x - — — ~
REDH 501 | M@ &9y | x - — —
REDH 505 | mm k= x — — -
REDH 511 | WF ® | () — — -
BEDH 301 | BE x — — —
BEDH 325 | fEtE 5E x — — -
BEDH 338 | A L x — — —
BEDH 345 | B = x — — -
POEE D ED 401 | #HK il (RFE) - - -
L | mgom 2 | mE AEF|  x — - -
EZN a : 16,500
IR D B RS L x — — -
PUER DB 430 EE Bk O 6,200 — 6,200
AEEDER 522 A 1EHE O 10,300 — 10,300
REDH 523 | i BE x - — —
REDH 530 | MT  4£E x — — —
REDH 535 | MR BT x — - —
s |FEEOH | 1 | me FE | (&) — — — ~
IR D B 155 | BE AR x — — -
BIEEDED 20 AT EXx W 3,100 1,020 4,120
HEOB 219 | mR At x — — -
e RO 221 | B —x% x — — - 5220
R DB 231 BE 5 O 4,100 — 4,100
BEDH 320 | 2@ BEt+R| x — - -
REDH 514 | 5@ A x — - -
MERDE 125 | #r =t | O 3,100 — 3,100
HEDOB 218 | mE  x£%F| O 4,100 — 4,100
HEDOB 237 | xBfE XF x — - -
BEDH 317 | Ml ARF|  x — - —
PO ES D BB 436 A [Z$S O 6,200 - 6,200
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REO® | 536 | b WL | x - - -
DD 110 | kB ®A%| O | 3100 -~ 3,100
HER DEB 121 =H GEz O 3,100 — 3,100
HER DEB 122 Bl ER O 3,100 — 3,100
DD 126 | % 2| O | 3100 -~ 3,100
X\ | 202 | AH BRT| X — — -
XEoH | 210 | @A &xFYy | x - - -
HERDER 212 i WF O 4,100 - 4,100
o | 217 | AW mEF|  x — — —
o | 27 | HE @z | x - - -
HERDEB 229 TE  E— O 4,100 — 4,100
HERDER 233 (RN & O 4,100 — 4,100
sgom | 302 | ®®  @mE | O | 5100 -~ 5,100
ZERDER 318 I ERT O 5,100 — 5,100
SEO®W | 320 | BA  KF | X — — —
SEOH | 326 | ®E MW | x — — —

2 | BROH 330 A H NS X - - - 65,800
sgom | 346 | @I #F | ) | - - -
SEOH | 350 | A mE | X — — —
mEDH® | 429 | A x — — —
mEEOH | 431 | WE BT | % — — —
mEDH® | 432 | AM {5 x — — —
WD | 433 | AH  EK | X — — -
WD | 434 | LAk R x — — —
mEROH | 438 | A ®mE | x - - -
mEOH | 449 | EE BT | x — — —
RERDEB 507 | ARH 5 O 10,300 - 10,300
REO#® | 508 | Am & x — . —
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BB D 539 | ME B X - - -
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BEIEE DA 13 REF  FRE ER 3,100 1,020 4,120
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MEDED 111 | & oy O 3,100 — 3,100
RO 224 | # @ X - - -
RO 230 | =& =W X - - -
SER OB 312 | W% = X - - -
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ZERDEB 339 A Ab% O 5,100 - 5,100
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mEDH | 408 | mE AR | x - - -
mEOH | 411 | mL % < - - -
mEOH | 437 | WO RE | x — - —
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&0 | 52 | B8 #F | x — - -
sgo®m | 305 | dE  —E | x — - -
SEOH | 315 | ME Z@F| X — — —
SBEOH | 316 | BWHE % x - - -
SBOH | 331 | AHE AT | X — — -
sgo® | 333 | mA BIF| x — — -
sgom | 341 | AN — | x - - -
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sEOm | 343 | mx AIE | x — - —
mEgo | 419 | EE w2 | O | 6200 — | 6200
mEoH | 421 | B BA | x - - -
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REO#® | 512 | mE @ ® x - - —
EBOH | 516 | &4 BT | X — - —
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ZERDER 321 AH BER O 5,100 — 5,100
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mEoH | 441 | AR B8] — — —
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PYER D EB 448 AH R O 6,200 — 6,200
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EEOH | 510 | R fe= | x - - —
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